=] A x 7K X 4 +
10/9 10/10 10/11 10/12 10/13 10/14 10/15
EWE28EH 13:00 AIEHEE 19:00 *&#B=EH 13:30 <Y 7% EFHEAIK 18:00 EH =4
7:00 A=Y FFHER <EEE2F> <EEE2R> (FEM%E29E 1)
10:00 EA Y
15:00 EFHZIY
10/16 10/17 10/18 10/19 10/20 10/21 10/22
FRIE29EH 19:00 *A B2 13:30 YU 7£& 19:00 TEDH Y 14:00 #HE =X
7:00 EBA Y <EEE2F> <EEE2F> hTFEED 18:00 FH =Y
10:00 Az H k=8> YT IRV N (ZEME30ER)
13:00 &IE#HE
10/23 10/24 10/25 10/26 10/27 10/28 10/29
HEFHDH 19:00 *»EBEH 13:30 <Y 7& EEATK 18:00 FH =Y
FHEE30ER <EEE2F> <EEE2F> (FEMEE31ER)
7:00 ££8&
10:00 £ &%
15:00 ZF¥XH=ZY
10/30 10/31 11/1 11/2 11/3 11/4 11/5
FRIEINEH 19:00 *~» B & 13:30 YU 7£& EEATK 18:00 EH 4
7:00 A=Y <&EE2F> <EEE2F> (FEME32ER)
10:00 A =&
BEE LY S - EBHEMELY

*FEHIY 6: 300 TEE)

*@ENER 19:00 #Z EIEDERE
BEDEZELHILZBELTHONABLAENZLTVETY
*%E1-3&ER 19:00 TEDOHY
TEDERERICHYZEITEL & 5 @EHAH

10/9 10:00 <EZER>E=_HKIEAYIHF

10/10 13:00~20:30 SIEHEE fV41T47 % (BEEEEH HABRH)
10/16 13:00~18:00 SIEHEE f4FT47 #%k (BEEEEH HABRH)
10/22 14:00 <#&EX > HRLZHEIEH




